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1 Spherical Harmonics Table

For ` = 0 r
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Y00 is a linear combination of the scalar 1
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For ` = 1 rY1m is a linear combination of the vector r
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For ` = 2 r
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Y2m is a linear combo of the (symm-traceless) 2nd rank tensor 3r
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For ` = 3

Y3m is a linear combo of the (sym-traceless) tensor 5r
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has 7-components for the seven Y3m

The transformation between cartesian and spherical is such that the dot products aagree
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This notation is bad. I mean: Y11 / (x+iy)
r

, Y1,�1 / (x�iy)
r

, and Y10 / z
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Relation between the cartesian and spherical multipoles, q,p, Qij $ q00, q1m, q2m.


